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sin a sinb sinc

SinA sinB sinC

cosa=cosbcosc+sinb sin ¢c cosA
cosbh =cosccosa+ sin csn acosB

cosc=cosacosb+snasnbcosC

sin acosB = cosb sin ¢ - sin b cos ¢ cosA
sinacosC =coscsinb -sinccosb cosA
sin b cosC = cosc sin a- sin c cosa cosB
sin b cosA = cosasin c- sin acosc cosB
sin ccosA =cosasinb - sin acosb cosC

sin ccosB =cosb sina-sin b cosa cosC




snasnB=sinbsnA
sinacosB =cosb sinc—sin b cosc cosA (A)

cos a =cosb cosc+sinb sin ccosA
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Z =
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a= BC = 90° -&
b= AC = 90° — h
c= AB = 90° —¢@

A = BAC=180° - A

sin (90° -0 )sinH =sin (90° -h) sin (180° -A)
sin (90° -0 ) cosH =cos(90° -h)sin (90° -¢ ) —sin (90° -h) cos (90° -@ ) cos (180° -A)
cos (90° -0 ) =c0s (90° -h) cos(90° -@ ) +sin(90° -h)sin (90° -¢ ) cos(180° -A)

cosd® cosH = sin h cosp + cosh sing cosA

cosd sinH =cosh cosA
. nnc (1)
sind = sinhsin@ —cosh cosp cosA




P,Z, X A,B,C
a= BC = 90° —h
b= AC = 90° -5
c= AB = 90° —¢@
B= ABC= 180° — A
(A)

sin (90° -h) sin (180° -A) =sin(90° -6 )sinH
sin (90° -h) cos(180° -A) =cos(90° -0 )sin (90° -@ )—sin (90° -6 ) cos(90° -¢@ ) cosH
cos (90° -h) =cos(90° -0 ) cos(90° - ) +sin(90° -6 )sin (90° -@ ) cosH

coshsin A =cosd sinH
—coshcosA= sind cosp —cosd sin@ cosH

sinh = snd sin@ +cosd cosp cosH
coshsin A = cosd sinH
cosh cosA=-sind cosp +cosd sing cosH (2)
sin h = dnd sin@ +cosd® cosy cosH
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a= BC =90°
= AC
c= AB
= BAC
B= ABC=90°
(A)

-B
-3

=90° +a

—A

sin (90° -B )sin(90° -A ) =sin(90° -0 )sin (90° +a )
sin (90° -B ) cos(90° -A ) =cos(90° -0 )sing —sin (90° -0 ) cose cos(90° +a )

cos (90° -B) =c0s(90° -0 )coss +sin (90° -0 )sine cos(90° +a )
cos3 cosA =cosd cosa

co3 SiNA =sind Sine +Cosd SINO COSE (3)

snf3 =gnd coss —cosd sind Sing
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a= BC =90° -5

b= AC = 90° -

c= AB =90° —¢

A = BAC= 90° —\

B= ABC= 90° +a
(A)

sin (90° -6 )sin (90° +a ) =sin(90° -B )sin(90° -A)

sin (90° -0 ) cos(90° +a ) =cos(90° - )sine —sin (90° - ) cost cos(90° —A )

cos (90° -0 ) =c0s(90° -B )coss +sin(90° -B )sing cos(90° —A )
C0sd cosu =Ccos3 CosA

—Ccosd siha = sinfB sing —cos3 cose SinA
sind = sinf cose +cos Sine SinA

C0sd cosu = COS3 CosA

cosd sina = —sinB sine +cosB SN\ cose (4)

sind = gnf coss +cosd SiNA Sing
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(1)

cosd sin (B —a ) =cosh cosA

cosd cos (6 —a )
snd

sin h cosp +cosh sing cosA
sinhsing —cosh cosp cosA

> (5)




(2)

coshsin A = cosd sin (0 —a )
cosh cosA =—sind cosp +cosd sing cos(8 —a ) (6)
sin h = snd sin@ +cosd® cosp cos(0 —a )
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(1) L,M,N
L
tan H = e arctangent H
H CoS O
K
N
tan & = arctangent h

cos sin ar ctangent
cos sin ar ctangent 180°
cos ar ctangent 90°




